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All questions are Compulsory
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Question Nos. 1 to 8 are Multiple choice type which corry 1 mark each.
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Question Nos. 9 to 15 are very short Answer type which corry 1 mark each.
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Question Nos. 16 to 23 are short Answer type — I which corry 2 marks each \
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Question Nos. 24 to 31 are short Answer type — II which corry 3 marks eacf X
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BT Hel 3 3B B |
Question Nos. 32 to 34 are long Answer type which corry 5 marks each.
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(Multiple Choice Type Questions) i

2019

(@gRrascdr uee)

Ag is an example of |
(a) Ionic Solid (b) Metallic Solid ‘
(b) Co-valent Solid (¢) None of these. i

Ag Ueh 3TTE0T & |
(a) 3TTTelas oA hT (b) erffeaes 1A BT
(c) TEdHeis o @& () zerdt & BE =@t 1

Rate = K [CH3 COOC, Hs] [NaOH] is on example of :
(a) Zero order reaction (b) Second order reaction 1
(c) First order reaction (d) None of these. !

\

Jo1= K [CH; COOC, Hs] [NaOH] s 3aT@wor
(a) oo pife arfarfsar ot (b) faftr e arfifEsar )
(c) werer ehite 3ifarfsam aor (d)serdt A BIg TEr 1
|
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The reaction is
(a) Aldol Condensation (b) Clemmensen’s reduction
(¢) Fittig reaction (d) None of these.

0
]
CH;
C-H Zn - Hg / HCI e
(o7 et e ke oA o) +H, 0

srfafesar B

(a) TesTel Hgelel (b) AT T
(c) st afarfes=T (d) setdt ¥ BS BT
Magnetite is an ore of
(a) Al (b) Fe
(¢)Zn (d) Cu
FAooerae 3B &
(a) Al epr (b) Fe =mr1
(c) Znamr (d) Cuepr
Toluene Cl,/ hv
—_—» A
‘A’ s
(a) Benzene (b) Benzaldehyde
(c¢) Choloro Benzene (d) None of these
o ES) Cl,/hv A
N
(a) Jeoilel (b) AeoTcTTSETSS
(c) AR Asoitel (d)zerdd A BIs STBl
Cr O;
Isopropyl alcohol + [O] > A
‘A’ s
(a) Acetophenone (b) Acetone
(¢) Cyclopropanone (d) None of these
Cr Oy
amsAUiUer Uembiaal + [O] Ly A
‘AR
(a) TAEIwIETe (b) wiiers
(¢) ATSFATIT TSl (d)zetdt A BIs STEl

Which enzyme helps in coverting starch into maltose ?
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(a) Zymase (b) Maltase

(c) Diastase (d) None of these
sere @Y FeerT & ufafdda @eer A dlel AT TeollgH HAG DRl
2 ?

(a) SITSAGT (b) HATeTST

(c) SISt (d)serdt & BIS Tl
CH; .CH,OH 95% H,SO,4 i

120K > Product

the product is

(a) C, He (b) CH, = CH,

(c) CH;0H (d) None of these
CH; .CH,OH 95% H,S0,

440K Eilis

3IqE B

(a) CZ H6 (b) CH2 = CHZ

(¢) CH;0H OESCEE: PSS ABT

(Very Short Answer Type Questions)
(a1t og ITAT ues)

Calculate the overall order of a reaction which has rate expression
Rate =K [A]"? [B]™?
sfafET @ @mer @IE @t ororen W et dor [wieid ©
Jor=K [A]"? [B] 31

Beri beri occurs due to deficiency of which vitamin ?

Cha Rref3s @ wa F AN BT B ?

Write dispersed phase and dispersion medium of soap lather a colloidal solution.

Ager B WO, Uh diciigs faermer wr afférd wrEzem
uf¥ergqur Frea ot |

Write the monomer used for getting the polymer, Polypropene.

W,ﬁﬁﬁ%ﬁwwﬁ%%@mw%n

Write [UPAC name of (CH3); C CH, CH, CH(Br) CHj;

(CH3); C CH, CH, CH(Br) CH; @B1 agogodorwoo =me o |
Give an example of Ketohexose.

BAZFRAT BT TH 3BT ¢ |

Give an example of food preser vative.

Zmer uf3zeTes @l Udh 3IETE0T < |
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(Short Answer I Type Questions)
(g 3T 1uee)

Distingiush between metallic conductor and electrolytic Conductor.
erfeacs OTeTds @ell dgda3iueesl dlctds # fasia |

Name Some ores which can be Concentrated by magnetic Separation method.

gﬁaﬁaqwﬁﬁmwﬁﬁ%ﬁmmﬁwmaﬂ

CICERIGECR
Write the reactions of F, and Cl, with water.

STer @ Jer Fygerm ChLast aifdfeeead faea |

Explain briefly how +2 Oxidation state becomes more and more stable m@ the

first half of the first row transition elements with increasing atomic number. |

sierg 3 o SIRTT 5 wersr Heeaor ot & wersyr arefarrof

ged BU UIATY TG B A +2 SieRfieeer  @Ren A

arferes o=t &l STt B
Complete the following :

(a) C,HsBr + AgCN (ale) ——
(b)CH;—CH=CH,+HI —»

RreenfalRaa &7 9T W+

(¢) CoHsBr + AgCN (ale) ——
(d) CH;—- CH=CH, +HI —»

What are the expected Products of hydrolysis of Sucrose ?

Wﬁwsmaaaﬁﬁﬁm%aaﬁaﬁsﬁ&ﬂaﬂﬁg?

What are natural and Synthetic Polymers ? Give one example of each.

ursfaes 3w e wgeles T ¥ P URB B UD ISRV

ST |
Why Should not medicines be taken without consulting a doctor ?

%mg‘mﬁmgf%vwﬁaﬁaﬁﬁmﬁe?'

(Short Answer II Type Questions)
oig 3T 11 uee)

Distinguish between Conductors and insulators.
aretes der fagaet F fste @I
Explain rate of chemical reaction.

SToTfeTes  3TITehaT & JoT BT guiur Bl |

Explain the following terms :

(a) Peptization (b) Electro osmosis
foeer Uel bl JTAASTSC:
(a) Ut (b) Agd URTART

7@

1a+1%

1+1=2

1+1+=2

1+1=2

1+1=2

Vot1%

(%]

=3

=3
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How will you bring about the following transformations ?
(a) n-propyl bromide  to n-propyl alcohol
(b) Ethyl iodide to Diethyl ether
(¢) Propionamide to Ethyl amine
freefoiRaa uRader 3mg A BT ?
(a) n-freT aaTes A n-WfueT Topleet
(b)ulerer am=itsss F BE URa e
() MRtRNemaATgs JF Ule uele
Using TUPAC norms write the Systematic names of the following :
(a) [Co(NH3)s] Cls
(b) [Co (NH3)4 C1 (NOy)] Cl
(c) [Ni (NH3)6] Cl
JUPAC frraft & ammeR o feeenfafaa & JeaaiRed
%ﬁﬂ'@:
(a) [Co(NH;)¢] Cls
(b) [Co (NH;)4 C1 (NOy)] Cl
(¢) [Ni (NH3)q] Cla
What is Corrosion ? How Corrosion can be checked ?
HETRUT oI & P HETRUT Bl A AbT ol ABAT & ?
Predict the Product :

OH Conc. HNO;

©© =

Cl
Anhydrous Alcl;
(b) @ + CHyCI .

H,O
(¢) CgHsCO.0.COCHj; >
3Idla ddrsu
Ok Conc. HNO;

v

e

Cl
3ree Alcls
(b) @ + CH5CI .

H,O
(C) C6 H5 COOCOCH3 —>

7] &

ot

—_—

#1+1=3

+1+1=3

o+1Ys =3

shleEl =R
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Complete the following reactions : ‘

(a) XeFy +  HF = |
(b) XeF¢ + 0,F, ——> |
(¢) H;PO; Heat |
i | |
Rreeeria sifdifipaail @ @1 &3 : |
(a) XeFy + HF — |
(b) XeFs + OF, ——* ]
(c) H3PO; Heat
—

(Long Answer Type Questions) 1
@Eref 3T wee) |

An aqueous solution of 2% non-volatile solute exerts a pressure of 1.004 bar at

the normal boiling point of the Solvent. What is the molar mass of the Solutg?

eIcs & ATHTST oRelelice U¥ U 3rarsgefier faerar obr
Siellr retret @7 1.004 bar arsg @ &1 Ooa &1 &
SSTHATUT T & ? |
OR / arerar |
In a reaction between A and B, the initial rate of reaction (r,) was measure

|
I
different initial Concentrations of A and B as given below : }

A /mol L™ 0.20 0.20 0.40 |
B/mol L 0.30 0.10 0.05 |
r,/mol LS 507x10° [507x10° |1.43x10™

What is the order of the reaction with respect to A and B ? | |
A 3T B & Hew siffear dF A R B @ Rfdes ur
Hiearsit & e uRfBies Jor (r,) i ke ow 21

(7
2%

for

A /mol L™ 0.20 0.20 0.40

B /mol L' 0.30 0.10 0.05

r,/mol LS 507x10° |5.07x10° |1.43x10™ JM
I

A3 B3 ufy sifafear ot wife @=m & 2

Give the Principle involved in monufacture of Sulphuric acid by Cdntact

Process. How does Concentrated H,SO, reacts with (i) C and (ii) Cak,
Feqes fIfr ¥ oo 3t @ 3ee A fafga Riegid

o))

23t =g H,S0, (i) C derr (i) CaF, & Arer s uebe atisifshar

HA B ?

7 @D

—

F1+1=3

3+2=5
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Discuss the general Characteristics of Group 17 elements with reference ta
Oxidation state (ii) ionization enthalpy and (iii) electron gain enthalpy.
qof 17 & gt @ JHERT gUigHAT B IaAd () SR
argzen (i) 3Mee weded wd (i) soagiar wifta  wediedt
Jdesf I e &2
Write short notes on the following :

(a) Friedel - Craft’s reaction

(b) Clemensen reduction

(c) Sandeyer reaction

Rreaferaa o dfera fewoht o=t -
(a) ¥SYSeT — ehrae ITHTHAT
(b) TeftHTS  TUTA

(c) Aesaraz fafesar

OR 31e2rar
Identify ‘X’, ‘Y’ and ‘Z’ inthe following :

(a) CH; CH,.CH,Br  KOH (alc) HBr
> ‘X, L R o o S, ‘Y’
CH:CHz
=
(b) KMOJOH . H;0 B
Heat

Beefeaa & ¥ X, Y der ‘2’ &Y g

(a) CHs;. CH,.CH,Br  KOH(ale) . HBr
» ‘X —_ Y’
FHZCHZ
®) (O KMO/OH | . _ WO | .,
Heat
(c)éOOH HNOy/H,SO4 . <o

S
\U

fanY @

1Va+1%
E2=5

1%+1%
+2=5

+2+1=5




